
Homotopy using Matlab                                 
(Analysis and Implementation) 
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∈ int B and following  leads to a fixed point  
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q2 q2 q1 q1

r1 r2 Input (I) IS Bf Br Bf Br v1 v2 v3 lambda

100 5000 2.00E-03 1.00E-14 250 3 200 3 0.854 0.84 0.82 0.001156

100 5000 2.00E-03 1.00E-14 250 3 200 3 0.854 0.84 0.0082 0.08984

100 5000 2.00E-03 1.00E-14 250 3 200 3 0.854 0.24 0.0082 0.9987

100 50000 2.00E-03 1.00E-14 250 3 200 3 0.854 0.24 0.0082 0.9981

100 5000 2.00E-04 1.00E-14 250 3 200 3 1.02 1 0.356 0.9987

100 500 2.00E-03 1.00E-14 250 3 200 3 1.02 0.1 0.439 0.9998

100 50 2.00E-08 1.00E-14 250 3 200 3 1.2 0.99 7.20E-05 0.045

100 5000 2.00E-08 1.00E-14 250 3 200 3 1.2 1 0.00001 0.9978    
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